












































where r = (x,y) ∈ R
2 and the last equation was derived by making use of Eq. (15). Assuming

âm,n,0 = âm,n,Kstk+1 = 0, m = 1, . . . ,Krow, n = 1, . . . ,Kcol, it is straightforward to verify that
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)
. (24)

By substituting the above expression into Eq. (23), for k = 1, . . . ,Kpix, we have
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dr, (25)

where r = (x,y) ∈ R
2, ãz0

m,n,0 = ãz0
m,n,Kstk+1 = 0, for all m = 1, . . . ,Krow, and n = 1, . . . ,Kcol.

By making use of Eq. (13), the second term on the right-hand side of Eq. (22) can be simpli-
fied as follows
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âm,n,p

∂
∂ z0

β d
(

z0

Δz0
− p

)

= Δx0Δy0 ∑
m,n,p
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, z0 ∈ R,

where we have made use of Eq. (15) and assumed ãz0
m,n,0 = ãz0

m,n,Kstk+1 = 0, for all m =
1, . . . ,Krow, and n = 1, . . . ,Kcol. The last identity was derived in a similar way as Eq. (24).
The result follows immediately by substituting Eq. (25) and the above equation into Eq. (22).
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